1a59n1s : neviaszuusambhlszhuassruusoddu szusid 3

wuunAaYsIENIsU3u I LLazsIAn

VIdaad@ vunIsUNILATWNA R.52Ua9

ukuv 1/3

Uszanansiddatui 19 dutey 2567

ddu AMUEUNY AURUNY A1 51N (UIN)
LRl RT 1L TRTYTE v LR TIIRET-]
W sauuau (un) (un) Factor F | sha1/uiau ERCRE ]
dfUlavudunu
1 | snwmoviesewyaeidy 1.00 | oS 9,248,140.00 12,141,867.30 -
2 | snmessviasiminlsnh 1.00 | sBn1s 1.58_1,170.00 1K i_,991,810.61
dauly
e Qusrowhae 15 % 1 )
3 taﬁﬂ;xﬁunaowﬂﬁ.ja %
""" : saniodug 7 % T
myasui 7 %
wnomg N !
sanfluduernasdrefodu 10,829,310.00 14,133,677.90

frdnus

duddumilsuauauudusauiunndasiaduifauviddusate

ADLZNTTUNITAIUUATIATINA I IUNDATIIVDIA LN IULVSANAAT AINETAY AUD. 7 086/2567 aviuni 22 nuATWUS 2567

Winray S AS5UNTS

(woailufivs Gued)

Lﬂuuau{ﬂg‘:’\“a@ ................... 1s¥E1UNSINAS
(nenSauy uAaviy)
Wiuzay.......
........................... Fg.:fpp.a,..___..___..___.........nssun"ﬁuamaﬂwnw

Wiunay

(wpdn¥y udunsiey)

U iny

(e unnsse Tude)

e NITUANG




1a59n15 : 2vassuusaminlsahuasszuusnmhdu szosi 3

(T TE R L ST R LI L TR VITEEL TR

V3aged T unTsNIILATNA R.550D9

uriuvi 2/3

dszanaenasiddadud 19 duten 2567

dduy ANUEUVY A UAUNY L) s1a7Aa (W)
ERLGRT Usuan wi wnaue
W adavu (uw) (un) Factor F | s1a1/udan 5181923
1 | srumnevaszuusiohéu [ 1 _ _
B - Clearing and Grading N 467.00 | was 400.00 186,800.00 | 1.3424 536.96 |  250,760.32 -
- - Open Cut and Backfill - 336.00 | u@g 800.00 268,800.00 | 1.3424 1,073.92 |  360,837.12 -
- 19vialdéiu HDPE @ 315 mm PE8O PN8 266.00 | wins 2,287.00 608,342.00 | 1.3424 3,070.07 |  816,638.30 o
- noviawmflaleiéiu HDPE @ 315 mm PE80 PN8 1,499.00 | a3 2,287.00 3042821300 | 13424 | 307007 | 4,602,033.13
- vialdy HDPE 90° @ 315 mm PE80 PN8 14.00 25e 5,515.00 77,210.00 | 13424 | 7,403.34 103,646.70
- vialdy HDPE 53° @ 315 mm PE8O PN8 1.00 10 5,515.00 5515.00 | 1.3424| 7,403.34 7,403.34 )
- vialdy HDPE 45° @ 315 mm PE80 PN8 ) 200| e 4,330.00 8,660.00 | 13424 | 581259 11,625.18
| - Pipe Support Type 1 56.00 7@ 5,500.00 308,000.00 | 1.3424 | 7,383.20 413,459.20
| - Pipe Support Type 2 60.00 25@ 3,000.00 180,000.00 | 1.3424 |  4,027.20 241,632.00
| - Pipe Support Type 3 - 35200 e 3,000.00 1,056,000.00 | 1.3424 402720 | 1,417,574.40 B
| - Steel Casing Pipe @ 16" mm A53 - - 48.00 | wes | 5,520.00 264,960.00 | 1.3424 7,410.05 355,682.30
| - Pipe Jacking - 4800| wes |  3,670.00 176,160.00 | 1.3424 4,926.61  236,477.18 | )
| - Pipe Jacking Pit S 400 e 268,800.00 1,075,200.00 | 1.3424 | 360,837.12 | 1,443,348.48 -
| - wsmiih (Gate Valve) @ 300 mm. ) 100| e 44,440.00 4444000 | 13424 | 50,656.26 |  59,656.26 .
. viadqumhauhnseds 300 mm. 300 e 11,340.00 134,020.00 | 1.3424 | 1522282 | 45668.45 -
|- @uvnewihatu @ 300x300x300 mm. | too| e 2084000 |  20840.00| 13424| 27,97562 2797562 |
3 -whaw@3e0mm. 300 e 3890.00|  11,670.00| 1.3424 15,221.94 15,665.81 B
| - Stud Nut Bolt with Washer M20x140 _ 3600| e 45000| 1620000 | 1.3424|  604.08| 2174688 |
- Stud Nut Bolt with Washer M20x100 3600| 1@ 32000| 1152000 | 13424 | 42957 15,464.45
- 1a Tie-in 1u1@ 6.00x6.00 m. AuANAUVIaLAY 100 18 268,800.00 |  268,800.00 | 1.3424 | 360,837.12 360,837.12 |
B - viadumhauhnsedo @300 mm. 100 e 11,340.00 |  11,340.00 | 1.3424 | 1522282 15,222.82
2 51«11\1}111'1'-1‘111 @ 300x300x300x300 mm. 1.00 E 2] - 27,640.00 | 27,640.00 | 1.3424 | 37,103.94 37,103.94 |
- vialdv 90° wihau @ 300 mm. 2.00 3@ 13,740.00 | 27,480.00 | 1.3424 | 18,444.58 36,889.15 |
-wihauewas @300mm. 3.00 1e 4,190.00| 12,570.00 | 13424 5,624.66 16,87397 |
- Stud Nut Bolt with Washer M20x140 2400 | e 45000  10,800.00 | 1.3424 604.08 14,497.92 |




159015 : Mavassuusimhlsaliuazsruusnméu szued 3

uuuuAAIs LN ITUIN LA IAN

viidagesdnunTsuiuaINA R.520aY

unud 3/3

dsznainisudatud 19 duten 2567

#du AUEUNY AUEUNY A 518119 (UIn)
s1uA1S BILTREGT wihn wneug
7 saudin (uwm) (um) Factor F| s1a1/wuu 51157
- - Stud Nut Bolt with Washer M20x100 48.00 7@ 320.00 15,360.00 | 1.3424 42957 |  20,619.26
- vhanuararauarvesauusduvia 100| 9w 90,000.00 90,000.00 | 1.3424| 12081600 | 12081600
- $anauuardndutuduiuninaunia 1,252.00 [$112k) 800.00 1,001,600.00 | 1.0700 856.00 1,071,712.00
53 1 9,248,140.0 12,141,867.3
2 | vwrnesziuviasiobalsah ! _
- 19vialsiéiu HDPE @ 160 mm PE8O PN8 70.00 | @3 837.00 58,590.00 | 1.3424 1,123.59 78,651.22
- viaTdy HDPE 90° @ 150 mm PE8O PN8 400| e 1,210.00 4,840.00 [ 1.3424 1,624.30 6,497.22
| - Steel Casing Pipe @ 200 mm A53 60.00 | @3 1,150.00 69,000.00 | 1.3424 1,543.76 92,625.60
| - Entry Pit 4.00x8.00x4.00 m. 1.00 a 480,000.00 480,000.00 | 1.3424 | 644,352.00 644,352.00
| - Existing Pit 4.00x4.00x4.00 m. 1.00| 1a 288,000.00 288,000.00 | 1.3424 | 386,611.20|  386,611.20
| - Pipe Jacking 60.00 | w3 1,773.00 106,380.00 | 1.3424 | 2,380.08|  142,804.51 .
- - viadumihauihnsedo @ 150 mm. 300 1@ 3,050.00 9,150.00 | 1.3424 | 4,09432 | 12,282.96
|- #@uvewianu @ 150x150x150 mm. 100 1& 5,700.00 570000 | 13424 | 765168 | 765168
B - Stud Nut Bolt with Washer M20x140 |~ 1200 e 450.00 540000 | 13424 | @ | 604.08 7,248.96 B
- Stud Nut Bolt with Washer M20x100 36.00 146 320.00 11,520.00 | 13424 | = 42957 15,464.45 -
| - Useqiih (Gate Valve) @ 150 mm. 100 1w 12,220.00 12,220.00 | 1.3424 | 16,404.13 16,404.13 -
. ﬂasfuuﬂ‘m‘mﬂ'\nssm_ﬂ 150 mm. B - 1.00 246 3,050.00 ~ 3,050.00 | 1.3424 4,094.32 4,094.32
- @&nomhatu @ 150x150x150 mm. i 100| @ 8,900.00 8,900.00 | 1.3424 | 11,947.36 11,947.36
- vialdv 90° waharu @ 150 mm. 200 i) 3,840.00 ~ 7,680.00 | 1.3424 5,154.82 10,309.63
- vihaueuae @ 150 mm. - 3.00 L2 1,280.00 3,840.00 | 1.3424 1,718.27 515482 |
- Stud Nut Bolt with Washer M20x140 1200 | e 425.00 ~ 5,100.00 | 1.3424 570.52 6,846.24
- Stud Nut Bolt with Washer M20x100 ) 60.00 | 1 305.00 ~ 18,300.00 | 1.3424 409.43 24,565.92
- VienuaranauarvadauusIeuvia 1.00 vy 3,500.00| 350000 1.3424 4,698.40 469840 |
- Sheet Pile 1ia¥u 4.00x4.00x4.00 m. ) 100| 1a 192,000.00 |  192,000.00 | 1.0700 | 205,440.00 205,440.00 |
- Sheet Pile 1ia&y 4.00x8.00x4.00 m. 1.00 ia 288,000.00 288,000.00 | 1.0700 | 308,160.00 308,160.00
5 2 1,581,170.0 1,991,810.6




